C
NOTE:
— ALL THREADED PARTS TO BE GREASED
WITH COPPER COMPOUND
PARTS LIST
ITEM|QTY PART NUMBER MATERIAL DESCRIPTION TOSE.IQ_lrJ E MASS
1 1 | AMF_OFS_OPD_316L DIXON TUBE HOUSING BODY 316L RB 100 X 47 0,886 kg
2 1 69.0 x 2.0 VITON O-ring VITON 69.0 ID x 2.0 CS, Viton 0,001 kg
B 3 1 M6 x 60 Allen cap screw A2 6mm OD x 25mm long allen cap screw 0,016 kg
4 2 M5 Spring washer A2 5mm ID split washer 0,000 kg
5 2 M5 x 12 Allen cap screw A2 5mm OD x 12mm long allen cap screw | 6 Nm |0,004 kg
6 1 AMF_OFS_OP_316L HOUSING CAP 316L RB 100 X 42 0,255 kg
7 2 M16 x 1.5 COMPRESION GLAND PLASTIC Connector 0,126 kg
8 1 43.0 X 2.0 VITON O-ring VITON 43.0 ID x 2.0 CS, Viton 0,000 kg
9 1 SPRING - AMF-025 SS 74 FL x 32,5 1D, 12 SWG, 6,75 TC 0,013 kg
10 | 1 DIXON SENSOR 316L 0,829 kg
11 | 1 AMF_OFS_OP_316L QUICK RELEASE FLANGE 316L RB 150 X 42 1,015 kg
- 12 | 1 BS218 VE O-Ring ENC 31.30 ID x 3.53 CS, Viton EPS 0,003 kg
13 | 1 OPTIC SENSOR SEALING BUSH FOR FLANGE 250 316L RB 40 X 130 0,378 kg
14 | 1 OPTIC SENSOR SEALING BUSH FOR FLANGE 175 316L RB 40 X 89 0,183 kg
15 | 1 OPTIC SENSOR SEALING BUSH FOR FLANGE 140 316L RB 40 X 90 0.185 kg
16 | 1 OPTIC SENSOR SEALING BUSH FOR FLANGE 200 316L RB 40 X 90 0,218 kg
APPROVED
R.P.M.J.
TITLE
A
§ DIXON SENSOR
_ PARTS ASSEMBLY
NO TRANSFER OF INTELLECTUAL PROPERTY : Any & all drawings,
documentation, information or data provided by AMF to be used solely SIZE TDWG NO REV
for the use intended by AMF,nor may it be shared, copied, distributed ALLGEMEINE MASCHINEN FABRIK
or disseminated in any manner whatsoever. All intellectual property, A2 AM F_OFS_OPD_316L
including AMF's drawings,shall remain the sole property of AMF. SCALE 1.1 SHEET 1 OF 1
8 | / | 6 | 3 | 2 | 1



